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1-2

N
(m) ( ) |« )
y (kN/m3) |y = (kN/m3)
o
o
N
— V| we 2.000 10 18.000 9.000
o
o
(2]
©
2 5.000 32 20.000 10.000
3 10.000 40 20.000 10.000
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1-3

@
( )
( )
@
(T-25)
o2 P (L1+i) B

(2 H+0.2)

2 x 100 x ( 1+ 0.450 ) x 0.900

2.75

Y s
ys
Y w
Y ¢

(2x 2.000+0.2) x 2.75

18.000  (KN/m?)
9.000 (KN/m?)
10.000  (kN/m3)
24.500  (KN/m?)

= 22.597(kN/m2)

0.450
B 0.900
H 2.000 (m)
B H(m) i
H 1.0m 10 H 1.5 0.5
Bt 4m ’ 1.5 H 6.5 0.65-0.1H
H 6.5 0
0.9
W2 = 10.000 (kN/m2)
(©)
a 1.00
K 0.5
GL- 1.200 (m
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*

( SD345 )

O ca
T cal
T ca2

T 0a

O sa

24.000
8.000
0.400
0.783
1.600

160.000

15

-1-5

(N/mm2)
(N/mm2)
(N/mm2)
(N/mm2)
(N/mm2)

(N/mm2)



1-4
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€Y

Pvia = a (ys H +y¥s Hu)

1.00 x ( 18.000 x 1.200 + 9.000 x 0.800 ) = 28.800 (kN/m2)
Pvib =Y w Hu

10.000 x 0.800 = 8.000 (kN/m2)

W1 = 22.597 (kN/m2)

Pvia =V ¢ hy

24.500 x 0.300 = 7.350 (kN/m2)

Pvic

Pvi = 66.747 (kN/m2)
a : 1.00
H : 1.200 (m)
Ho 0.800 m
h1 : 0.300 m
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@

N ( ) ( )
(m v (KN/m?) v " (kN/TR)
1 2.000 10 18.000 9.000
2 5.000 32 20.000 10.000
3 10.000 40 20.000 10.000
Phpy =K (W +y H +vy~ Hi@y)) + vy W Hu@)
K 0.5
W 10.000 (KN/m2)
y ) (KN/m?)
vy’ ) (kN/m?)
H (m)
Huciy i
i ( ) ( )
i (m H  (m) Huciy (m) y (kN/m3) y = (kN/m3) Puciy (kN/m2)
1 2.150 1.200 0.950 18.000 9.158 29.650
2 6.700 1.200 5.500 18.000 9.855 97.901
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®

a)

yoo  24.5 (kN/m?)

X1 Y1 X2 Y2 t W
(m) (m) (m) (m) (m) (m) (kN) (kN) (kN)
W1
3.000 4.200 0.300 0.000 92.610
2.400 3.600 0.000 0.000
92.610
W
3.000 4.200 0.400 0.000 123.480
2.400 3.600 0.000 0.000
123.480
W3
3.000 4.200 2.400 3.600 4.200 0.000 407.484
4.200 0.000 0.000
407.484
W=W + Ws+ Wa ( ) 500.094
b)
Pv2 = Pva + W / Av = 59.397 + 500.094 / 10.530 = 106.889 (kN/m2)
Pua (Pv1 - Pvid) 59.397 (kN/m2)
W : 500.094  (kN/m)
Av : 10.530 (m2)
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W (kN/m2)

@
4
W
Ix
ly
ly /7 Ix
Mx1 =
Mx2 =
Myl =
My2max
Qxl =
Qy1 = 0.4618 x 66.747 x
W (kN/m2)
] My2
—>
— Qx1 N
[N A
—>
] Mx2 -
—>
—>
lef,if§:=»<:ff . Myl
lo ol
N Ix 7

66.747 (kN/m2)

2.700 (m)
3.900 (m)
1.444

-0.07392 x 66.747 x 2.700% = -35.968 (kN m)
0.03255 x 66.747 x 2.700%2 = 15.838 (kN m)

-0.05668 x 66.747 x 2.700%2 = -27.580 (kN m)

= 0.01131 x 66.747 x 2.700% = 5.503 (kN m)

0.5114 x 66.747 x 2.700

Mx1

= 92.163 (kN)

2.700 = 83.224 (kN)

0.07

0.06

ly

0.02

0.01

T
|
|
: L | [T -Wx1
| 1 -Mx1(K
d
7
|
|
|
T
— 1 -My1
1z | == Mx2(k)
e B ot
L1 |
= Qyl
‘ —— -My1(k)
=
: // Mx2
|
" — .
—
s My2(K)
L
|
|
|
|
Ny
| My2max
|
|
|
1.0 1.5 2.0 2.5 3.0
1.444
ly
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&)

(1-viv2) Mat+t(va2a-vi) Ma
M2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 =0.2
Vo1 =0
0 v =0.2
(kN m) (kN m)
Mx1 -35.968 -35.968
My1 -27.580 -27.580
Mx2 15.838 16.939
My2max 5.503 8.671
(©)
M 0 A
(kN m) (kN) <
0.000 0.000
A -27.580 83.224
16.939 0.000
° 8.671 0.000 B,
-35.968 92.163
¢ 0.000 0.000
0.000 0.000
P -27.580 83.224 ~
—
D
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*

B
M KN m 0.000 -27.580 16.939 8.671 -35.968 0.000
N kN
Q kN 0.000 83.224 0.000 0.000 92.163 0.000
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.300 0.300 0.300 0.300 0.300 0.300
dc m 0.080 0.080 0.080 0.080
de m 0.220 0.220 0.220 0.220
Ao D13@125 D13@125 D13@125 D13@125
cm? 10.136 10.136 10.136 10.136
Aot D13@125 D13@125 D13@125 D13@125
cm? 10.136 10.136 10.136 10.136
U m 0.320 0.320 0.320 0.320
Ns 15 15 15 15
X m 0.080 0.080 0.080 0.080
Oc N/mm?2 3.566 2.190 1.121 4.651
O ca N/mm?2 8.000 8.000 8.000 8.000
(o) o) O (o)
Os N/mm?2 93.617 57.498 29.433 122.090
O sa N/mm?2 160.000 160.000 160.000 160.000
o o O o
T N/mm2 0.378 0.000 0.000 0.419
Ta N/mm?2 0.783 0.783 0.783 0.783
(o) [e) O [e)
To N/mm?2 1.359 0.000 0.000 1.506
T 0a N/mm2 1.600 1.600 1.600 1.600
o ] O o
Ay o
Qc N/mm2
Qs N/mm2
ow N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc A ( )
de O ca Qc
de Os Qs
Asc O sa aw
O
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M KN m 0.000 -27.580
N kN
0 kN 0.000 83.224
B m 1.000 1.000
H m 0.300 0.300
dc m 0.080
de m 0.220
D13@125
Asc
cm? 10.136
Aot D13@125
cm? 10.136
U m 0.320
Ns 15
X m 0.080
Oc¢ N/mm?2 3.566
O ca N/mm?2 8.000
(@]
Os N/mm?2 93.617
O sa N/mm?2 160.000
(o)
T N/mm?2 0.378
T a N/mm?2 0.783
(@]
T o N/mm?2 1.359
T 0a N/mm?2 1.600
(o)
Au o
Qc N/mm2
Qs N/mm2
o N/mm?2
O Wa N/mm?2
M Ast T
N U ) T a
Q Ns To
B X T 0a
H Oc Ay
dc O ca QC
de Os QS
Asc O sa Ow
O Wa
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2.150
29.650KN 1
4.350
94..900kN -
2.700
29.650KN _
JR— A
94.900KN
L 3.900 J
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2.150

4.350



29.650 (kN/m2)

2.700 (m)
4.350 ()
1.611

-0.07812 x 29.650 x 2.700% = -16.886 (kN m)
0.03593 x 29.650 x 2.700%2 = 7.766 (kN m)

29.650 x 2.7002 = -12.320 (kN m)
= 0.01004 x 29.650 x 2.700% = 2.170 (kN m)

4-1 (
@
4
W
Ix
ly
ly /7 Ix
Mx1 =
Mx2 =
My1 = -0.057 x
My2max
Qxl =
Q1 =
W (kN/m2)
] My2
——f
S o ¥
&
=
E —
=1 Mx2 -
>
—>
leﬁz . Myl
- ;
Ix

Mx1

0.518 x 29.650 x 2.700 = 41.468 (kN)
0.4632 x 29.650 x 2.700 = 37.081 (kN)

0.07

0.06

ly

0.02

0.01

Xt

N\
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-Mx1
-Mx1(K)

-Myl
Mx2 (k)

Qx1
Qy1
-My1(k)
Mx2

5
My2(k)

My2max

3.0

5 (v =0)

7 0.20

7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
M2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 =0.2
Vo1 =0
=0 v =0.2
(kN m) (kN m)
Mx1 -16.886 -16.886
My1 -12.320 -12.320
Mx2 7.766 8.200
My2max 2.170 3.723
(©)
M Q A
(kN m) (kN) &
0.000 0.000
A -12.320 37.081
B 8.200 0.000 .
3.723 0.000 .
-16.886 41.468
¢ 0.000 0.000
0.000 0.000
b -12.320 37.081 ~
—»
D
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4-2 «C
€Y}
4
Wo 65.250 (KN/m2)
Ix 2.700 (m)
ly 4.350 (m)
ly /7 Ix 1.611
Mx1 = -0.03949 x 65.250 x 2.700%2 = -18.784 (kN m)
Mx1max = -0.04405 x 65.250 x 2.700%2 = -20.953 (kN m)
Mx2 = 0.01801 x 65.250 x 2.7002 = 8.567 (kN m)
My1 = -0.04348 x 65.250 x 2.7002 = -20.682 (kN m)
My2 = 0.00436 x 65.250 x 2.7002 = 2.074 (kN m)
My2max = 0.01 x 65.250 x 2.7002 = 4.757 (kN m)
My3 = -0.01369 x 65.250 x 2.700%2 = -6.512 (kN m)
Qx1max = 0.3303 x 65.250 x 2.700 = 58.191 (kN)
oy = 0.3859 x 65.250 x 2.700 = 67.986 (kN)
Oys = 0.0871 x 65.250 x 2.700 = 15.345 (kN)
0.06 ‘ 0.06
|
|
!
0.05 [iinaxy B 0.05
LIl N g
o3 L TN
- 0.04 S N 0.04
\ ES ey | “:\\> Qx1
T -
Wl T 0.03 ; NN Mydnex o o3
Mx2 _ 1 - oy
- x\“ - > |
0.02 i%i\\i
Qx1max 5 ST o
4
e,
Mxlm.:-fxL - ) ] ™~ My2max
k—f ~ M2 —1 ~
WO (kN/m2) | Myt oLy 0,00 ‘ w2l o
Ix 2.0 1.5 1.0 1.5 2.0
1.611
_ly _ly
Ix = T Ix
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&)

(1-viv2) Mat+t(va2a-vi) Ma
Mx2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-v42
MxZ,MyZ
Mxl,Myl
V2 = 0.2
V1 =0
=0 v 0.2
(kN m) (kN m)
Mx2 8.567 9.518
Mx1max -20.953 -20.953
My1 -20.682 -20.682
My3 -6.512 -6.512
My2max 4.757 6.470
©)
M A
(kN m) (kN) <
A 0.000 0.000
-6.512 15.345
9.518 0.000
B B
6.470 0.000 .
c -20.953 58.191
0.000 0.000
0.000 0.000
D D
-20.682 67.986 _
Ve
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4-3 (
M (kN m) Q (kN)
0.000 0.000 0.000 0.000 0.000 0.000
A -12.320 -6.512 -18.832 37.081 15.345 52.426
8.200 9.518 17.718 0.000 0.000 0.000
° 3.723 6.470 10.193 0.000 0.000 0.000
-16.886 -20.953 -37.839 41.468 58.191 99.659
¢ 0.000 0.000 0.000 0.000 0.000 0.000
. 0.000 0.000 0.000 0.000 0.000 0.000
-12.320 -20.682 -33.002 37.081 67.986 105.067
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4-4

M KN m 0.000 -18.832 17.718 10.193 -37.839 0.000
N kN
0] kN 0.000 52.426 0.000 0.000 99.659 0.000
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.300 0.300 0.300 0.300 0.300 0.300
dc m 0.080 0.080 0.080 0.080
de m 0.220 0.220 0.220 0.220
Aec D16@125 D16@125 D16@125 D16@125
cm? 15.888 15.888 15.888 15.888
Aot D16@125 D16@125 D16@125 D16@125
cm? 15.888 15.888 15.888 15.888
U m 0.400 0.400 0.400 0.400
Ns 15 15 15 15
X m 0.081 0.081 0.081 0.081
Oc¢ N/mm2 2.393 2.251 1.295 4.808
O ca N/mm?2 8.000 8.000 8.000 8.000
o) o) o o)
Os N/mm?2 61.474 57.838 33.273 123.519
O sa N/mm2 160.000 160.000 160.000 160.000
o) o) o) o)
T N/mm?2 0.238 0.000 0.000 0.453
T a N/mm?2 0.783 0.783 0.783 0.783
o) o) o o)
To N/mm?2 0.685 0.000 0.000 1.302
T 0a N/mm?2 1.600 1.600 1.600 1.600
o) o) o) o)
Ay o
Qc N/mm2
Qs N/mm2
ow N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc Aw ( )
dc O ca QC
de Os QS
Asc O sa aw
O Va
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M KN m 0.000 -33.002
N kN
0 kN 0.000 105.067
B m 1.000 1.000
H m 0.300 0.300
dc m 0.080
de m 0.220
D16@125
Asc
cm? 15.888
Aot D16@125
cm? 15.888
U m 0.400
Ns 15
X m 0.081
Oc¢ N/mm?2 4.193
O ca N/mm?2 8.000
(@]
Os N/mm?2 107.730
O sa N/mm?2 160.000
(o)
T N/mm?2 0.478
T a N/mm?2 0.783
(@]
T o N/mm?2 1.373
T 0a N/mm?2 1.600
(o)
Au o
Qc N/mm2
Qs N/mm2
o N/mm?2
O Wa N/mm?2
M Ast T
N U ) T a
Q Ns To
B X T 0a
H Oc Ay
dc O ca QC
de Os QS
Asc O sa Ow
O Wa
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4-5

W (kN/m2)

€

Mx1
Mx2

Myl

My2ma:

Qxl
Qy1

— Qx1

X

29.650 (kN/m2)
3.900 (m)
4.350 (m)

1.115

-0.05931 x 29.650 x 3.900% = -26.747 (kN m)
0.02235 x 29.650 x 3.900%2 = 10.079 (kN m)

-0.05407 x 29.650 x 3.900%2 = -24.384 (kN m)

= 0.01628 x 29.650 x 3.900% = 7.342 (kN m)

W (kN/m2)

LIl

My2

Qyl

Mx2

Myl

Y

v

Mx1

0.4711 x 29.650 x 3.900
0.4489 x 29.650 x 3.900

ly

= 54.476 (kN)
= 51.909 (kN)
0.09 T
|
|
: L | [T -Wx1
0.08 ¥ o
| A -hix1(k)
j L~
|
|
0.07 T
|
L
|
|
0.06 [
|
| — -Myl
1z E— Wx2(k)
1 T 1
0.05 T Qx1
% 1
L — o
oo T
| b
¥
|
0.03 [t =] 5
! ‘ My2(k)
d | %
0.02 V
|
F N
0.01 = My2max
|
|
|
0.00
1.0 1.5 2.0 2.5 3.0
1.115
ly
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5 (v =0)
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7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
M2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 =0.2
Vo1 =0
0 v =0.2
(kN m) (kN m)
Mx1 -26.747 -26.747
My1 -24.384 -24.384
Mx2 10.079 11.547
My2max 7.342 9.358
(©)
M 0 A
(kN m) (kN) <
0.000 0.000
A -24.384 51.909
11.547 0.000
° 9.358 0.000 B,
c -26.747 54.476
0.000 0.000
0.000 0.000
b -24.384 51.909 ~
—
D
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4-6 ( )
@
4
Wo 65.250 (kN/m2)
Ix 3.900 (m)
ly 4.350 (m)
ly /7 Ix 1.115
Mx1 = -0.03005 x 65.250 x 3.9002 = -29.823 (kN m)
Mximax = -0.03094 x 65.250 x 3.9002 = -30.706 (kN m)
Mx2 = 0.01115 x 65.250 x 3.9002 = 11.066 (kN m)
My1 = -0.03667 x 65.250 x 3.9002 = -36.393 (kN m)
My2 = 0.0082 x 65.250 x 3.9002 = 8.138 (kN m)
My2max = 0.01015 x 65.250 x 3.9002 = 10.073 (kN m)
My3 = -0.01798 x 65.250 x 3.9002 = -17.844 (kN m)
Qx1max = 0.2645 x 65.250 x 3.900 = 67.309 (kN)
Qy1 = 0.3477 x 65.250 x 3.900 = 88.481 (kN)
Qy3 = 0.1186 x 65.250 x 3.900 = 30.181 (kN)
0.06 ‘ 0.06
|
|
l
0.05 [jixdn l B 0.05
RN N | e
03 = TING |
- 0.04 = : 0.04
R
q - B¢hna NN oxt
1 - X
Wl T 0.03 R\E= Mydnex o o3
Mx2 - ‘ Q¥
X\N = Mx2 :
0.02 Sy I
Qx1max ‘;F NS T s
~= ‘
My2max 001 Jth” ;\\:N"//j
 losl b 32
Mxlm.:-fxL - ///.‘ ™~ My2max
k—f My24—"1 | ™~
|
Wo (kN/m2) ’ Myl oyl | 0.00 ‘ el o
Ix 2.0 1.5 1.0 1.5 2.0
1.115
_ly _ly
Ix = T Ix
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5 (v =0)

7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
Mx2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 = 0.2
V1 =0
=0 v =0.2
(kN m) (kN m)
Mx2 11.066 13.081
Mx1max -30.706 -30.706
Mya -36.393 -36.393
Mys -17.844 -17.844
My2max 10.073 12.286
(©))
W A
(kN m) (kN) <
A 0.000 0.000
-17.844 30.181
B 13.081 0.000
12.286 0.000 B,
c -30.706 67.309
0.000 0.000
0.000 0.000
D D
-36.393 88.481 -
—
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4-7 (
M (kN m) Q (kN)
0.000 0.000 0.000 0.000 0.000 0.000
A -24.384 -17.844 -42.228 51.909 30.181 82.090
11.547 13.081 24.628 0.000 0.000 0.000
° 9.358 12.286 21.644 0.000 0.000 0.000
-26.747 -30.706 -57.453 54.476 67.309 121.785
¢ 0.000 0.000 0.000 0.000 0.000 0.000
. 0.000 0.000 0.000 0.000 0.000 0.000
-24.384 -36.393 -60.777 51.909 88.481 140.390
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4-8

(
B
M KN m 0.000 -42.228 24.628 21.644 -57.453 0.000
N kN
Q kN 0.000 82.090 0.000 0.000 121.785 0.000
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.300 0.300 0.300 0.300 0.300 0.300
dc m 0.080 0.080 0.080 0.080
de m 0.220 0.220 0.220 0.220
Ao D16@125 D19@125 D19@125 D19@125
cm? 15.888 22.920 22.920 22.920
Aot D19@125 D19@125 D16@125 D19@125
cm? 22.920 22.920 15.888 22.920
U m 0.480 0.480 0.400 0.480
Ns 15 15 15 15
X m 0.091 0.091 0.081 0.091
Oc N/mm?2 4.662 2.690 2.754 6.275
O ca N/mm?2 8.000 8.000 8.000 8.000
(o) o) O (o)
Os N/mm?2 98.726 57.670 71.058 134.533
O sa N/mm?2 160.000 160.000 160.000 160.000
o o O o
T N/mm2 0.373 0.000 0.000 0.554
Ta N/mm?2 0.783 0.783 0.783 0.783
(o) [e) O [e)
To N/mm?2 0.894 0.000 0.000 1.326
T 0a N/mm2 1.600 1.600 1.600 1.600
o ] O o
Ay o
Qc N/mm2
Qs N/mm2
ow N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc A ( )
de O ca Qc
de Os Qs
Asc O sa aw
O
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M KN m 0.000 -60.777
N kN
0 kN 0.000 140.390
B m 1.000 1.000
H m 0.300 0.300
dc m 0.080
de m 0.220
D16@125
Asc
cm? 15.888
Aot D19@125
cm? 22.920
U m 0.480
Ns 15
X m 0.091
Oc¢ N/mm?2 6.710
O ca N/mm?2 8.000
(@]
Os N/mm?2 142.092
O sa N/mm?2 160.000
(o)
T N/mm?2 0.638
T a N/mm?2 0.783
(@]
T o N/mm?2 1.529
T 0a N/mm?2 1.600
(o)
Au o
Qc N/mm2
Qs N/mm2
o N/mm?2
O Wa N/mm?2
M Ast T
N U ) T a
Q Ns To
B X T 0a
H Oc Ay
dc O ca QC
de Os QS
Asc O sa Ow
O Wa
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W (kN/m2)

€

Mx1
Mx2

Myl

My2ma:

Qxl
Qy1

Qx1

X

W (kN/m2)

LIl

My2

0.5114 x 106.889 x 2.700
0.4618 x 106.889 x 2.700

Qyl

Mx2

Myl

Y

v

Mx1

106.889 (kN/m2)

2.700 (m)
3.900 (m)
1.444

0.07

0.06

ly

0.02

0.01

-0.07392 x 106.889 x 2.700% = -57.600 (kN m)
0.03255 x 106.889 x 2.700% = 25.364 (kN m)

-0.05668 x 106.889 x 2.700%2 = -44.166 (kN m)

= 0.01131 x 106.889 x 2.700% = 8.813 (kN m)

= 147.590 (kN)
= 133.276 (kN)
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-Mx1
-Mx1(K)

-Myl
Mx2 (k)

Qx1
Qy1
-My1(k)
Mx2

5
My2(k)

My2max

3.0

5 (v =0)

7 0.20

7 0.10




&)

(1-viv2) Mat+t(va2a-vi) Ma
M2 =
1-vi2
(v2a-vi1i) Ma+(1-vi va) M
My2 =
1-vi?
Mx2 , My2
Mx1 , My1
V2 =0.2
Vo1 =0
0 v =0.2
(kN m) (kN m)
Mx1 -57.600 -57.600
My1 -44.166 -44.166
Mx2 25.364 27.127
My2max 8.813 13.886
(©)
M Q A
(KN m) (kN) <
0.000 0.000
A -44.166 133.276
27.127 0.000
° 13.886 0.000 B,
-57.600 147.590
¢ 0.000 0.000
0.000 0.000
b -44.166 133.276 _
—
D
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*

B
M KN m 0.000 -44.166 27.127 13.886 -57.600 0.000
N kN
Q kN 0.000 133.276 0.000 0.000 147.590 0.000
B m 1.000 1.000 1.000 1.000 1.000 1.000
H m 0.400 0.400 0.400 0.400 0.400 0.400
dc m 0.080 0.100 0.100 0.080
de m 0.300 0.320 0.320 0.300
Ao D13@125 D16@125 D16@125 D13@125
cm? 10.136 15.888 15.888 10.136
Aot D16@125 D13@125 D13@125 D16@125
cm? 15.888 10.136 10.136 15.888
U m 0.400 0.320 0.320 0.400
Ns 15 15 15 15
X m 0.096 0.100 0.100 0.096
Oc N/mm?2 3.284 1.893 0.969 4.282
O ca N/mm?2 8.000 8.000 8.000 8.000
(o) o) O (o)
Os N/mm?2 104.342 62.455 31.970 136.079
O sa N/mm?2 160.000 160.000 160.000 160.000
o o O o
T N/mm2 0.444 0.000 0.000 0.492
Ta N/mm?2 0.783 0.783 0.783 0.783
(o) [e) O [e)
T o N/mm?2 1.277 0.000 0.000 1.414
T 0a N/mm2 1.600 1.600 1.600 1.600
o ] O o
Ay o
Qc N/mm2
Qs N/mm2
ow N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc A ( )
de O ca Qc
de Os Qs
Asc O sa aw
O
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M KN m 0.000 -44.166
N kN
0 kN 0.000 133.276
B m 1.000 1.000
H m 0.400 0.400
dc m 0.080
de m 0.300
D13@125
Asc
cm? 10.136
Aot D16@125
cm? 15.888
U m 0.400
Ns 15
X m 0.096
Oc¢ N/mm?2 3.284
O ca N/mm?2 8.000
(@]
Os N/mm?2 104.342
O sa N/mm?2 160.000
(o)
T N/mm2 0.444
T a N/mm?2 0.783
(@]
T o N/mm2 1.277
T 0a N/mm?2 1.600
(o)
Au o
Qc N/mm2
Qs N/mm2
o N/mm?2
O Wa N/mm?2
M Ast T
N U ) T a
Q Ns To
B X T 0a
H Oc Ay
dc O ca QC
de Os QS
Asc O sa Ow
O Wa
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L d1 d2 P1 P2
a- 2.700 5.300 76.900 76.900
c- 0.850 5.800 84.400 84.400
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€Y)

D

2)

(P2-P1) L2
20

(2 P1+3 P) L2

60
(x=L/72)
P1 L2 (P2-P1) L2
+
24 48
(PL+P2) L2
48
P L 7
+ P2 - P1
2 20 ( )
(3 P1+7 P2) L

20

P1

P2

O\
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@

D
(x=0)
. 2 P 24P L2
T 6
2)
(x=0)
o - . (PirP) L

AN
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-46.717

23.358

103.815

-30.490

-71.740
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€Y)

a- c-
M KN m -46.717 23.358 -30.490
N kN
0] kN 103.815 -71.740
B m 1.000 1.000 1.000
H m 0.300 0.300 0.300
dc m 0.080 0.080 0.080
de m 0.220 0.220 0.220
Aec D16@125 D16@125 D16@125
cm? 15.888 15.888 15.888
Aot D16@125 D16@125 D16@125
cm? 15.888 15.888 15.888
U m 0.400 0.400 0.400
Ns 15 15 15
X m 0.081 0.081 0.081
Oc N/mm?2 5.936 2.968 3.874
O ca N/mm?2 8.000 8.000 8.000
O (o) o)
Os N/mm?2 152.500 76.248 99.530
O sa N/mm?2 160.000 160.000 160.000
O o o
T N/mm2 0.472 0.326
Ta N/mm?2 0.783 0.783
O [e)
To N/mm?2 1.357 0.938
T 0a N/mm2 1.600 1.600
O ]
Ay o
Qc N/mm2
Qs N/mm2
aw N/mm?2
O a N/mm2
M Ast T
N U ) Ta
Q Ns To
B X T 0a
H Oc Aw
de O ca Qc
de Os Qs
Asc O sa aw
O
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€Y

U =W Y ow

71.820 x 10.000 = 718.200 (kN)

Y ow 10.000(kN/m3)
Vb (m*)
(m) (m) (m) (m%)
1 3.000 4.200 5.700 71.820
71.820
@
W =Ws + W
= 453.600 + 623.574 = 1077.174 (kN)
Ws
Wo
Wo = Wi + W2 + W3 + Wg = 623.574 (kN)
(m?) (m) (kN/m?) (kN)
1 12.600 2.000 18.000 453.600
453.600
©)

=W/ U= 1077.174 / 718.200 = 1.500 1.2
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8-1
€Y
N/mm?2 N/mm2
C 4.651 8.000
C 122.090 160.000
C 0.419 0.783
C 1.506 1.600
@
N/mm2 N/mm2
C 4.808 8.000
C 123.519 160.000
D 0.478 0.783
D 1.373 1.600
©)
N/mm2 N/mm2
D 6.710 8.000
D 142.092 160.000
D 0.638 0.783
D 1.529 1.600
“)
N/mm?2 N/mm2
C 4.282 8.000
C 136.079 160.000
C 0.492 0.783
C 1.414 1.600
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®

@
N/mm2 N/mm2
5.936 8.000
152.500 160.000
0.472 0.783
1.357 1.600
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8-2

54®
S3e S2
Y
s1 J F1
g X
w1
°
F4
[ J [ J
W4 w3 | F3 Y
F2
Y
w2 X
e
X
B4®
B3g B2
JY
B1
e X
M (KN m) Q (kN)
X | Y X | Y
S1 0.000 -27.580 0.000 83.224
S2 -35.968 0.000 92.163 0.000
S3 16.939 8.671 0.000 0.000
S4 0.000 -27.580 0.000 83.224
( )
w1 0.000 -18.832 0.000 52.426
w2 0.000 -33.002 0.000 105.067
W3 -37.839 0.000 99.659 0.000
w4 17.718 10.193 0.000 0.000
( )
F1 0.000 -42.228 0.000 82.090
F2 0.000 -60.777 0.000 140.390
F3 -57.453 0.000 121.785 0.000
F4 24.628 21.644 0.000 0.000
B1 0.000 -44.166 0.000 133.276
B2 -57.600 0.000 147 .590 0.000
B3 27.127 13.886 0.000 0.000
B4 0.000 -44.166 0.000 133.276
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8-3

@
(mm) (mm)
D13 125 D13 125
D13 125 D16 125
D13 125 D13 125
D13 125 D16 125
(mm) (mm)
D16 125 D19 125
D16 125 D19 125
! D16 125 ! D16 125
D16 125 D19 125
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@

00¢"v

3.000
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(3) A-A

D13 125

D13 125
I

006"

0€°0

00¢"v

00¥°0

0.30(

D13 125 /D13 125

G¢T 914

D19 125

D13 125

D13 125
I

---------\----------

sasecsesccraaaccraes

D16 125 | D16 125

2.400
3.000

PO U U U U U U U U U U U U U U U U T U U U TV
\_slee 0 0 0 0 06 0 0 0 0 06 0 0000000002000

0.30

G¢T  61d

D19 125
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D13 125

———

D13 125

(4) B-B

006"

D0E"0 . 00v°0
00¢ v

D13 125

D13 125 /D13 125

D13 125
I

--------------\---------------

D16 125
T B ———

G¢T 91d

»
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3.600
4.200

D16 125 | D16 125

TS & O 0 5 0 0 6 5 0 5 0 S T 0 S ST T T S ST T
\_see o ¢ 0 0 0 0 0 0 06 0 ¢ 0 0 0 0 0 0 0 0 0 0 0 @

P o
P o
P o
P o
P o
P o
P o
P o
P o
&

0.30(

G¢T 91d

D16 125



(kg/m) (mm) (cm?) (cm)
D10 0.560 9.53 0.7133 3.0
D13 0.995 12.7 1.267 4.0
D16 1.56 15.9 1.986 5.0
D19 2.25 19.1 2.865 6.0
D22 3.04 22.2 3.871 7.0
D25 3.98 25.4 5.067 8.0
D29 5.04 28.6 6.424 9.0
D32 6.23 31.8 7.942 10.0
D35 7.51 34.9 9.566 11.0
D38 8.95 38.1 11.40 12.0
0 sa = 200 N/mm2
o ck=21N/mm? o ck=24N/mm?2
T oa=1.6N/mm? | T oa=1.4N/mm?
D13 410 (406) 470 (464)
D16 500 (500) 580 (571)
D19 600 (594) 680 (679)
D22 690 (688) 790 (786)
D25 790 (781) 900 (893)
D29 910 (906) 1040 (1036)
D32 1000 (1000) 1150 (1143)
x 10.5 10mm
R L
(mm) (mm)
D13 140 220
D16 170 267
D19 200 314
D22 240 377
D25 270 424
D29 310 487
D32 340 534
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